SMIFE & 8 5 &8 ZF
FR31FE5/825 Eb‘b%ﬂlZfﬁBE?ﬁME £T
(B0 M)
= JE = A EF F
| =N
1. (ZB&E)
2EBESE 50,000 50,000
BHhoEFRE
=B 50,000 50,000
2. BhREUNZE
BhRk &5t
3. BEEE
|CT$51 =¥
HES 0
BHESEEET 0 50000
|| % &R
1. FXH
FEXIESRE
B 0 15,000
MeEs A A& 0 26,100
EEET 0 41,100 41,100
2. TOMORE
RT{E D 38,000 38000
BENE 0
= 18,000 10500
258 30,600 0
= 2,120 4200
He 15,000 0
THAED 0] 3456
RE 0 0
FCEHHE 0 0
GiEK ) 0 0
HE 14,550 17209
B E 0 0
Z D oREET 118,270 73,365 73,365
EEEt -64,465
BREERE
LHARR B IERET
IIEES=PANIIEa
IBEEEREEE
L HA I BR A EE SR RRR
SRR IERREAEERE 0
IR R 1T PR B EERE -64,465







